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1. (15%) Determine the minimum number of workstations needed for this situation:
Operating time: 459 min/day
Desired output: 80 units/day
Sum of task time is 56 minutes

2. (20%) A firm is considering three capacity alternatives

[;cernative annual fixed cost variable cost per unit
A 100000 22
B 120000 20
C 80000 30

Revenue is expected to be $50/unit

A. (6%) Which alternative has the lowest break-even quantity?
B. (7%) Which alternative will produce the highest profit for an annual output of
10000 units?

C. (7%) Which alternative would require the lowest volume of output to generate
an annual profit of 500007?

3. (15%) Giving the data below, develop a forecast for the following period using a
three-period weighted moving average and weight of 0.5, 0.3 and 0.2.

period demand A fj‘gﬁﬁ\:, .
1 19 ',;%_’é‘*fjgjf_g- )
2 20 ' X %

3 18

4 19

5 17
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4. (30%) Suppose that a pharmacy applies Kanban system for their services.
(1) Define the types of Kanban required in a pharmacy and depict all the Kanban
flows in the pharmacy layout. (10%)
(2) Design an end-to-end, value-added process for the pharmacy by using service
blue printing. (10%)

(3) Depict a value stream map for the same process. (10%)

5. (20%) X2 &= SHE 3D EHB(AEIBEAB-C)» B4/ D -
E~FRGafrRak - AP DAHEITAE E~FfuG AR @eHitiE
B c ARG D E S —HArmi > B A EEMAGAG RED B4
FAieak » CRARMBD 4D B~ GArsms - A~ B A EHM Y @23
EREA LB CHERAYEE TSRS 2 B-E~FGAlBRAEEL
EAS BEF I0EBAR 1045 CH%EA 254 D nlh B - D uihig
B4 100 B B8R BbiTsE o A8 1 BELEN 100 HDAH EEEHE
BREFABAELAOEA £5BEF N 605B A¥6BEH3IEC 3
RKEAB-C Doyt EReHE > o L8R -




